il
W
St
%
I

1. TE4
THE4 A4 9 73Kl 8 BHIEHRE TH
THEHA 1A AT )7 BT R BRIT 7k 1L At
2. THEHNE
1)  HEI4 VB ENEEHET LR
2) £ I & ERKG R T
3) T i 440 H H ST 64E12H 16 H
= SFn 84 2H28H
4) TEyE

ELAma  JuN TR )R




il
W
>
%%%
I

T4 | 49 75K 8 FHEHRETE

TEHEX Sy - THE - R H A7 ¥ & & # il bl A iR
JERRH R X 1 112, 629, 005
HEELT = 1 3, 528, 008
HRHEI T = 1 29,979 |#EH! 90 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
BEARRE AT = 1 446, 558 | BRA (L) BE 1+ 80 m3
2. 5mAT ;
EuNE R 30 m3
2. 5mPL 4. OmARTi ;
AR T (ICT) =X 1 2,472,861 | BE{A (FL2) % 1 (ICT) 7, 400 m3
FHIA Ob-27) 100 m3
+1 850, 000m3AT ;
b 100 m3
0 CaBl- EHIRY £5Te) ;
B Tyve=Ty M RHE) 53 m3
W HH U BG4S 180 m2
t=10mm ;
Rkt A = 1 578,610 |{EHEIEE (K LE0) 1, 350 m2
T i S O I BRI
MR B T = 1 2,032, 903
WRIELT = 1 137,966 |fHERIRAALEE 20 m3
EET I BRE 50kg/m3 ;
B 2 1 1,299,329 | & 300 m3
RC-40 ;
E#E T = 1 595, 608 | HE TR A WLEE 104 m3
2mZFAB A 5mEL @AV IB 120kg/m3 ;
IR = 1 1,379, 210
fiA T 2 1 822,890 | NLiE¥ 1,220 m2
V73,
EEWRAT T = 1 556, 320 | VMR AT 48 m2
JZ8cm ;
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PRE T = 1 23, 077, 756
e+ T 2 1 534,161 |FRIE Y (EHD 1 X
/e =g
RIE O (HRHED) 1 X
+4)
T FTHERE T (&4 BT =X 1 1, 166, 600 | B /) =HiEkE 19 m3
Im% 8 X 2mAii 18-8-40 (B JF) ;
WP IR L BE - 7Uh—HeR L E T 2 1 8,067, 847 | ffish 1B FLpfE 20 m
18-8-40 (B JF) ;
IR T RERE AN - 3R 1E 70 m2
HERA TR RE
T BEAA B 780 m
HERA TR RE
FEHL-BH L, FEED 447 m3
HERA TR RE
BEAKT 7/ M@ 72 m3
RC-40 ;
T A 43 Bl -1 121 m2
i U 20 m
& 0.3m ;
HEKb 3R & 6 m
JE.50mm X 1§ 300mm ;
HEKE #EE 32 m
WIRE B 200mm ;
VAT VAR L RE T (ZEREN (7)) | 1 13,309, 148 | 7 1-BE KAk 27 m
18-8-40 (B ) ;
IR T RERE AN - 3R 1E 158 m2
T BEAA B 664 m2
VEFSESIN 56 m3
FEHML-BH L, FEED 687 m3
BEM b e 27 m
I® 0.3m ;
SLAR PR E 37 m3
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RC-40 ;
VS ZE i) 279 m
1E30cm X £:50m ;
PR N g 131 m2
HEAKvy M iE 31 m
JE-30mm X §250mm ;
HEK B 46 m
WIRE ER& 150mm ;
7wy (GE) T = 1 4,488, 529
e+ T 2 1 322,742 |FRIEY 1 X
+4)
HEL 1 X
VR VARPY RN EVZA R VAR DY E <) = 1 4,165, 787 | BUGFTHEAE)) -} 41 m
18-8-40 (75 47) JEIE 52cm & 30cm ;
BT HeAfavy)-h 19 m
18-8-40 (75 47) JEIE 55cm & 35¢m ;
/) =h (R%0) 77 ny ) il 118 m2
P2 % 350 ;
A - BEAKS (W) 37 m3
FARAG RC-40 ;
1Eskavp) -} 2 m3
18-8-25 (B ) ;
Bl HT Ruiav - 4 m3
18-8-25 ()
A =p T 2 1 63, 281, 433
e+ T 2 1 1,490,193 |#EEL 1 X
(EAHD)
7 VR AN = T = 1 61,791,240 |7 VEyAME vJA 39.2 m
B=4. Om H=4. Om ;
JECRR V7)) 54 m3
30-12-25(20) (F&iF) ;
Bl A8 558 ) -} 16 m3
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LKy - LA - FER WAL ¥ =& & il il 2

40-18-20 (3@) (ERAM A D)
BRE)) - 19 m3
24-12-25(20) (FH7) ;

HEKHEY) T = 1 8,990, 203

BT = 1 428,401 |PR¥E Y 1 F2V
+4)
R L 1 =

AR T = 1 4,491,012 |7 VAN 259 m
300X 300 ;

7" Vv A NUBRMAITE: 71 m
360X 360 ;

TEEE 55 m
300X 300 ;

H H A B 2 m
HEMT 300 X400 ;

H H A B 2 m
HEdT 300 X500 ;

H H A B 2 m
HEMT 300 X600 ;

H H A B 2 m
HEdT 300X 700 ;

JEERa ) - (BPEHE) (B F A BRI 0.27 m3
18-8-25 (B ) ;

NS 2 #
300/ 77 Vv-F/) & L=1.0m HEHME ;

NS 110 e
(PE=H)
300/ a2v7)-}# L=0.5m T-25 ;

NS 6 #
(B HAEMTE )
300/ a2v7)-}# L=0.5m T-25 ;

NS 2 #
(H A BT D
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300/ 2v/7)-bE #KkZFE L=0.5m T-25 ;

s

BT

X

713, 180

RETIRG 1E

HTEE ¢600 ;
T IRG 1E

40054 T-25 ;

13 m

Y

855, 750

BGHT K
BUGFT#S 18-8-25 (Ei4F) 500 X 500X 500 ki
VEZEARFIEE

BT B K
BUGFT#S 18-8-25 (Ei47) 500 X 500X 600 kM
VEZEARFIEE

BT B K
BIGFT#S 18-8-25 (Ei4F) 500 X 500X 800 kM
VEZEARFIEE

BGHT K
BUGFTHF 18-8-25 (fEi47) 500X 500X 1000 {4
VEZEARFIEE

BGHT K
BUGFT#S 18-8-25 (Ei47) 800X 500X 500 ki
VEZEARFIEE

BGHT K
BUGFTHS 18-8-25 (fEi4F) 800X 800X 1500 {4
VEZEARFIEE

=

Fm.

800 X800/ 7 V—Fv) & T-25;

=

Fm.

500X 500/ 7 V-Fv) # T-20 ;

=

Fm.

800 X500/ 7 V—-Fv) & T-20 ;

=

Fm.

500X 500 At ;

4 %

MR T

449, 780

HFHEAK
B 6300 ;

43 m
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TEHEX Sy - THE - R B {7 ¥ & & # A bl B
BRI L Y 1 258,250 | BUSHFTKE ) m
18-8-25 (& JF) 300X 300~381 ;
illes= 5 r5e
300/ 7 Vv—F/r #E T-20 ;
HEAKT = 1 1,793,830 |/NEEHEK 85 m
300X 300 18-8-25 (Z4F) ;
HEPEAK 4 m
300X 300 (Vry M) 18-8-25 (FF) ;
HEPEAK 2 m
300X 300 ;
B T = 1 1,004, 879
PR e L 2V 1 123,382 | ANIKE 1 X
AKE R E L 2 1 881,497 | K 1 X
P B VP150
EhdE T 2 1 2,027, 750
av)) -z T X 1 2,027,750 | TE M (HE - BRIE ) 747 m2
FEITyYr77 RC-40 A VW E 100mm ;
EVVURINE 738 m2
t=10cm 18-8-25 (B /) ;
Bh AT L 2 1 1,875,616
FRANIBA AT L 2 1 1,875,616 |# =N b-I 24 m
BAER Gr-C-2B 21mPA_L100mau s sl E
40 .
=N VIR ) 24 m
BCFE 1100 480 ;
B = V= 83 m
BAER Gr-C-4F 50mPA_100maAu sl E
M .
H A B MR T = 1 685,918
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TEHX4y « Tfd - FER B Az £ & #A iR
[ Bk 3R T = 685,918 |#E WV av/7)-} 305 m2
18-8-25 (FJF) J&5cm ;
HEYE T = 112, 200
s EEE L T Y 80, 800 |av/)-MEE W HUE L 10 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 31,400 | BoE 10 m3
/)~ hik (4%
RISy 10 m3
/) -hik (E4%)
A Y 144, 600
A ERE E T = 144, 600 | 235 EE B 1 =
[ERAE Xy = 112, 629, 005
HiE 2 = 15, 671, 469
BISTIGE: = 4, 450, 469
TE R = 1,759, 000 | HE ELER AR o) Rk ST s 2 1 =
Hefif & = 775,760 | RISy 1 =
HeffrE sy = 834,709 | AR #H T EREY 1 =
PRSP BE(ICT) 1 =
YATLIE 2 (ICT) 1 F2V
TE W % AT - 1 =
AN e AvE HERERE 1 F2V
BGRESCGES (5 1) = 1, 081, 000
B (FEHL) = 11, 221, 000
-7 - E+A8m SN T S
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THEXSy - THE - FE5 H7 % & i Gl N
R e 2V 128, 300, 474
e R 2V 39, 563, 000
T AT X 167, 863, 474
— e PR 2V 26, 886, 526
N 2V 194, 750, 000
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